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1. The bidder at the auction wished to remain
(A) asymmetrical (B) atypical (C) anonymous (D) anomaly
2. The dentist gave the patient before pulling all her teeth.
(A) anesthetic  (B) anecdote (C) agnostic (D) anachy
3. Tofighther | the doctor prescribed iron pills.
(A) atheist (B) anemia (C) ambiguity (D) annuity
4. The __ celebration is held on every even-numbered year.
(A) biennial (B) bianual (C) annual (D) perennial
5. Asimplelifeisthe _ of a complicated one.
(A) philanthropy (B) antedate (C) circuit (D) antithesis
6. The___ lights go on when the electronic sensor is tripped.
(A) autonomic (B) automatic (C) autonomy (D) autocratic
7. Peter that smoking in the classroom not be allowed under any circumstances.
(A) refuses (B) regulates (C) conditions (D) insists
8.  The personnel manager will which employees will be sacked at tomorrow’s meeting.
(A) reward (B) announce (C)impress (D) collaborate
9. The customers were told that no could be made on Friday nights as the restaurant was busy.
(A) bookings (B) associations (C) subscriptions (D) calculations
10. This presentation will show how our new computers are superior to those of our competitors both features and
speed.
(A) on condition of (B) interms of (C) by means of (D) in place of
11. Rates for the use of recreational facilities do not include tax and are to change without further notice.

(A) capable (B) negative (C) active (D) subject

12. After the new commercial began running, the popularity of our product increased

(A) technically (B) beneficially (C) confidently (D) significantly

13. The shareholders were happy about the significant in the company’s performance over the last quarter.

(A) authority  (B) improvement (C) research (D) survey

14. Trespassers will be held in custody by the security team and the police will be

(A) noticed (B) notified (C) displayed (D) marked

15. Payment is expected immediately upon the goods.

(A) requesting (B) requested (C) requests (D) request

16. Itis absolutely that workers obey the safety rules to avoid work hazards.

(A) criticize (B) critically (C) critical (D) critic

17. Since teenagers a large part of our customers, our new advertising campaign should specifically target them.

(A) represent  (B) operate (C) produce (D) promote

18. Vitamin C is used to colds and cure the common cold as well.

(A) drift (B) pass (C) prevent (D) imitate
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35.
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37.

38.

39.

40.

Owing to many distractions, students tend to doing their assignments until the last minute.
(A) putdown (B) putaway (C) putoff (D) putup

Paul suggested that John up before driving to Pingtung.

(A) rest (B)rested (C)rests (D) resting

Mr. and Mrs. Chen went to the to pray for their family.

(A) library  (B) museum (C) church (D) zoo

The air pollution in the city me to get a headache.
(A) directed (B) lifted (C) pushed (D) caused
Tom will the food for the Sunday picnic. He lives near the market.

(A) keep up with  (B) cope with  (C) hear from (D) go on
Nooneinmyclasscould  that difficult math problem.
(A) stop (B)solve (C)open (D) block

Usea__ toclean around your mouth.

(A) sink (B) floor (C) napkin (D) issue

There is only one job opening, but we got 60 for it.

(A) suppliers (B) applicants (C) participants (D) accountants
The air-conditioner is less than a year old; thus, it is still under
(A) tolerance (B) guarantee (C) volunteer (D) acceptance
Paul usually low fees for his delivery service.

(A) charges (B) vends (C) cashes (D) retails

Regular exercise and good are essential for good health.

(A) convenience (B) assessment (C) nutrition (D) participation

Your education will you for your future.
(A) offend (B) detect (C) detail (D) equip
Your contract will be if you keep finishing your project behind schedule.

(A) represented (B) reserved (C) terminated (D)dominated

The airplane’s was delayed owing to dense fog.

(A) depart (B) departure (C) departs (D) departed

The news of getting a New Year bonus the workers.

(A) excited (B) was excited (C) was exciting (D) have excited

I’d it if you could turn the radio off.

(A) appreciatively (B) appreciative (C) appreciate (D) appreciation

Tim found this seminar quite . He just dozed off.
(A) bored (B) boring (C) bores (D) bore
Plans to establish a new branch in Taipeli delayed for several months.

(A) have (B)was (C)is (D) were
Some students in my class like tennis,but _ don’t.
(A) other (B) the other (C) others (D) the others
If I had enough money now, 1 buy a new car.
(A)will (B)can (C)would (D) have to
Jason has never been to England, it appears he knows everything about the country.
(A) Since (B) Although (C) However (D) Because
Dinner __ between six and eight every evening.

(A) will serve (B) serve (C) was serving (D) is served
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. FRT7a B EF B2 HAiph2 T3 &
A+2B o C K
D+E <« C K>
#3F e D+EoA+2B, 21 T i #(Ko) 0 Kbiz 5 02
(A)Ke =K+ Ky (B) K. = Kl/Kz (CO)Kc=K;xK,  (D)K.=KyK;

2. enpipzpHE X S 5.0 3R E[H 20k 2 [H]+ A82 (A)200 (B)100 (C)5.0 (D)l.4
3. BET F|E pedkfopt ¥ wwa;;k;&;a £ R e K 203 R ePpHE 4 3746 - 4.87

(A) CH;COO:Na / CHsCOOH (K, = 1.8 10°)  (B)NH;/NH4Cl (K, =5.6 x107')

(C) NaOCl/HOCI (K, =3.2 x 10°%) (D) NaNO, / HNO, (K, =4.5 x 107"
4, T % i I——ﬁ’kt}—//‘/li’7’,‘ﬂ—g3ﬁ[‘%’ﬁ,"" ’44’\~Eﬁb$’:#§~ | 7 Ay - #fémﬁ’»f?&7 3‘ iv & ?

(A) Fé© (B) F&¥  (O) Aly (D) A13+.

E°(V)
Al +3e — Al ~1.66
AgBryte — Age +Br +0.07
Sn*" +2e¢ — Sn*' +0.14
Fe'' + e — Fe*' +0.77

5. T fh2 feddas & A dLi HI>HSOy > HF > HON © 3R 7 7 e H 15485 5 £33 chig?
(A)T (B) SO (CO)F (D)CN
6. e :‘T\T”}; & T @’\3‘); },@'!'IE'Z 2A(aq) HB(S) + 3C(aq) ° ;ﬁ‘ S 7| i@ F] ’«I—\J_ ﬁm’l Tg—" &Z\ T E .

(A)  _[2A] (B) [BIX[CT’ (©) _[B] (D)_[CT’
[BIX[3C] [AT [AT [AT

7. e dv- R 2B AZn | Zn¥ICu’ | Cus Cufv i 1 (A) REF  (B) K  (C) B (D) & RH
8. © 37\7'N204(g)<—>2N02(g) AH=58.0 kJ/mol - ;‘;“ W SR — r‘].% g e 5K f@rﬁ' BT (P
(A 4B R (B)F BHAEL (OB %NOyy (D)4 » it #|
9. TAlIRH RRRY LG BF At E? e ookeni AR HE A F K, 5 0.52°C/m -
(A)02mKCl (B)0.2mNaSO; (C)0.2m Ca(NO3);, (D)0.2 m NasPOy
m.wwwgwgw;MW69¢h@124@4?
(A);‘M& T #ECl B) RMZTRREAK (O)RMZ ZFF R (D) ki A8k
11 T34 i & g ot 2gmid A 3 ‘?(A) H,S (B) CCl4 (C) HF (D)SO,
12. ¢ 4eH,PO4 + HSOy «> H3POy +SO4* = 7 71 fe & 4+ 48 % HSO4 2 £ ik ?
(A)H,PO; (B)H,S0, (C)SOs (D) H;PO,
13. $HO"F 43¢ (F R A 8) Trldt P E i m?
(A)SBFF - 10BT 3+ B)SBFF 6BTF (O)I0BFF -8BFTF (D)IOBFF » 10B7 S
14. 2 # T #INH; ~BH; ~CO, ~ HO:h4 3 4 > 5spit & fuiddg 2 ¥ (A)NH; (B)BH; (C)CO, (D)H,0
15. = & § "=(C3HeNo)® » N#rib e A 5 5 %5 ?(2 #C:12.0 g/mol; H:1.0 g/mol; N:14.0 g/mol)
(A)11%  (B)29% (C)40% (D)67%
16, B F oo AR A B GRS 0 FEERRET AN R NFLF 3B F BTR i B P 7
(A&t i B)mie (O#ie (D)t o
17. T3l Aol gRp 2 R0 (A)NaHC03 (B)Na,CO; (C)CaO (D)CaCOs
18. R xH %+ 5A%2 3 i 4 (A)ns’ np® (B) nsznp5 ©) nsznp4 (D) ns2np3
19. 32 BEF2fEdmn2w (1)1s25°2p"  (2) 15252p°  (3) [Ar]4s™3d’  (4) [Ar]4s”3d"%4p’ - 783 B R & 2 % 2
FEEFRN? (A)(Dand(2) B)(Hand(3) (C)(2)and(3) (D) (2)and (4)
20, RG SR AKY A e > H A3 FAeR A ?
A)fettzge p o 2Hgitge b (B)ieftge o o g ge p (Offig i 2bed 2427 (D)j- &7
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3% 1pm?2(A) 1x 10°m: (B)1x10°cm;: (C)1x10°nm;: (D)1x 10° km
w &7 133 ?(A)Brgs HO; (B)CS,# CCly; (C)KBr £ CS, ;5 (D) CH;0H £ CeHg ©
23. ¢ s Ag'/Ag(E°=+0.80V)» Clo/CI (E°=+136V) > } p BT 2 LET =5 @ ?
(A)CL+2Ag<2Cl+2Ag E°=+0.56V;: (B)CL+2Ag«<2Cl+2Ag E°=+1.12V;
(O)CL+2Ag2Cl'+2Ag E°=+216V; (D)2ClI +2Ag «<2Ag+Cl, E°=+1.08V
24, Eieskis o BMAE ST ERER 77 1008 F R P T2 R s PV ER?
(A)0.01% (B) 100 ppm (C)10ppm (D)0.1 ppm

25. 0.6 sud As frO#tleehit £4 ¢ 75 0454 suchAso R it it £ R & (2 7w As 749 g/mol 5 O ¢
16.0 g/mol) (A) As;O0, ;5 (B)As;O ;5 (C) AsO; ; (D) AsyOs5

260 TAFE R KGR BEF V() F R RA () ER Q) B 4) RO FE
(A)1-2>5 (B)2:3:4 (C)1>2°3 (D)1:2>3:4-

27. #20°C P> 20.0%(W/W)BHRS kiR R 5 1114 gmL - R L pp R MAT 2 REL §F 0 M?
(A)227M (B)1.14M (C)0.568 (D) 0.0568

28. TR E R TS nd T A £ ?2(A)3s (B)3p (C)3d (D) 3f

29. mEREF 2 & 21°C and 685 mmHg. jc -k w + e 5 7.80L- ;—;—;Lﬁ‘ BT hE §F (Hy) B2, (2 v 21°C
PEoRehg f & % 18.6 mmHg) (A)0.283 g (B)0.489¢g (C)0.567g (D) 0.714 g

30. 500 % 5.2 F® & 7 #(aspirin, CoHgO4) & 5 % > B P & 7 &% A~ + 2 ( ¢ & C:12.0 g/mol; H:1.0 g/mol; 0:16.0 g/mol)
(A)1.7x10%  (B) 1.7x10* (C) 1.7x10*° (D) 1.7x10"

31, TAFREEF & F 8 o 2.00mol HySOsand 150 g NaCl ¢ /& 7 > 5.2 & & 5 #?( @ 7~ Na:23.0
g/mol; H:1.0 g/mol; CI1:35.5 g/mol 0:16.0 g/mol; S:32.0 g/mol) (A) 7.30g (B)93.5g (C)146g (D)150¢g

32, FT T AF B ARSN Rl AERIE 50?2 GHi+_ 0, > _ CO+__H,0 (A)2 (B)4 (O)6 (D)8
33. Z& 5 %22 [TMH,S04 it ¥ o 68 2 5125 M NaOH ? (A) 100 (B)200 (C)50 (D) 70

34. #500 £ 1 0.10 M NaOCl 4= 500 £ 2 1 0.20 MHOCI R & t4 73 % 2. [H]E 5 5 > 2 [K(HOCI) =32 x 107°]
(A)6.40x10°M (B)324x10°M (C)1.58x10°M (D)6.31x10°M

35. 0.I0MHF i3k 2 f33F ~ 5 5 84% i st a2 [H15 54 2
(A)0.10M (B)0.84M (C)0.084M (D)8.4x10°M

36. 1.0x10° M Ba(OH), shpH & % % > 2(A)8.0 (B)10.0 (C)10.8 (D)11.3

37. Aok A F A+ B FRAEVRA BlE 0 R R FREH AR
(A) BT 32T 78 B)L24ts () RIRLETIEHE BT I8 (D) Edc2 bt h o
8. 3iedbEIRBE T T T AR 7 A2t o R4 H0 i $ 5?2 HO+MnOy +1 — MnO, +105
(A)1 (B2 (O3 (DM

39. $ - 53 H Ka=4.10x10"M> % [A]=20M-[H]=21x10"M > ;3% ¢ [HA] ék R % i@ ?
(A)0.500M (B)20M (O)1.0OM (D)1.5M

40. ¥8¥ - U fi & 49(KHP ¥ 3 fé, 204.23 g/mol)¥ ¥ 5 NaOH -ki3 % 2 38 o & 040 % KHP i 4% - & ik
B2 NaOH 16.8mL o £ NaOH 2 k& 5 2 (A)0.12 (B)0.16 (C)0.24 (D)0.32
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